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Shor and Seh two times — DYAYD W Y R

OVERVIEW

X217 explained that we do not derive (the word) 7% which is written by the
payments of 'm 7, from (the word) =@ which is written by naw,' where it includes
animals and birds as well, since the 770 wrote” W X MW twice by ' '7 *mown, in
order to teach us that the payment of '™ '7 is limited to 7w 7MW only (but not for
other animals or birds). M50 discusses the duplicity of the word 7w.

nooIN asks:
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And if you will say; but why do we need the word 72 to be written twice, since
by naw the word 7w is not written?

n90IN answers:
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And one can say; that if 7w would not be written twice, I may have thought
that the duplicity of 992 is coming to exclude other animals from the rule of " -
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That they (the other animals) do not pay five times as much (as MW does), but
rather we would place the other animals into the rule of 7w that they pay (only)
four times as much; therefore 1w is written twice to exclude other animals
completely!

SUMMARY
The duplicity of 7w alone could have meant the exclusion of other animals from
the payment of 7, but not from the payment of 7w.

'See 1,1 (713nnRY) 0727 where the 770 writes; "3 723 T0RKRY 772Y) 702 7323 AR 7IR7H 22 Ayn XD A oy oin.

? We understand the duplicity of the word M, for otherwise we would derive 21 M from naw that it includes all
animals; however since the word 7w is not written by naw (only M), so we cannot derive from naw that 7w includes
other animals, and we already know from the duplicity of 71 the no other animals are included, so why the duplicity
by nw?

* Without the duplicity of 7w, we would expound the w"13 of M M to include all other animals, and the exclusion
based on the duplicity of 77 would be expounded to mean that even though other animals are included (because of
the "), nevertheless they do not have the stringency of W to pay five times the amount, but only the rule of 7w
applies to them that they pay only four times the amount (see “Thinking it over’). Therefore the 7™n wrote 7w twice
to exclude other animals completely from any such payments by 717°3m1 7m°20.
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THINKING IT OVER

mooIn answers that without the duplicity of 7w we would expound the w"1 of W
nawn MY to include other animals, but we would utilize the duplicity of M1 to have
them pay like a 7w.> Does it not seem unusual that we derive other animals from
the w"1 of MW 7w, but they pay like 17w, but not like M1

3 See footnote # 4.
® See 719N WO XN # 32.
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